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Time : Three hours 4 ) - Maxipium : 75 marks
PAR_T A —{(10 x 2 = 20 marks) .
. Answer any TEN questions.
1.  Define Cost Acc;)untiligl
S bsallone 5@$£@®\mmum@1. I
2.  What is Cost Unit? .
Qéa)s_q SlaTay aé&r_mrr@ aeﬁm?
3.  Whatis a Cost Sheet?
SL&selana LI 1qu16h Gremmed eremen?
4. What is a Tender? |

| @UUBS flena L1l g Wid GTempITed eTebren?

Cory AcCCounking.

5 What is Minimum Stock Lev'el?

@mg)‘r_'r,gul_'_& T&EEHLIL| DIGT6Y GTETMHTED GTTEn?

-

6.  What is Purchase requisition?

(L0V)

QameTpged cfamanriiLid erempTed ereman?
7. What is Time Rate system?
SITQ) LETFLI (LPEDD GTEIDITE) GTEITGT 2

8.  What is Incentive Plans? .

i . Com

—
i

oarés parfluig S LD GTIDTE Graan?
9. What is allacation of Overhead? -

GupGlawey eag1EE0 eTanmmd eraitan?



10.

11.

12.

13. -

14..

15.

What is Administrative Overhead?

Blireuns CopEgawe|seT 6TaTmTe cT6me?

State any two objectives of Cost Accouhting. '

eILésa_;aﬁ]ma) samsAuer Corashisdr gGsab GyeamemL 5.

What is Memorandum Reconciliation Account?

Bleoomey M&s 5 s cremmme eréser?

- PART B — (5 x 5 = 25 marks) -
Answer any FIVE questlons

Explam the various elements'of Cost.

oﬂxu_a;,a;a&'lma)uﬂlu-_teﬁ]m LOGeum FmmiEear aﬁ]auﬂé;es'.

Prepare a Cost Sheet from the following data :
Raw matenals consumed Rs. 80,000

Wages Rs. 20, 000

Factory ¢ expenses is charged at 100% of wages.

. Office-overhead is charged at 20% on factory cost.

EpSGEeRTL @S]mmma;aﬂeﬂ@pgj Q@ au_asa;miﬂmeo LILLq_u_IGI) g,mrrrr Qaws :

- BETUUC L epelG@urmeT @ 80,000
".smSl 5. 20,000

Q‘e_r,rrgélg)&rrmeo Qaoveyser smadludle 100%

b SBIV(CUNS Gmm@&mmsm Ggmfharane 2i_ssefleneuiidy 20%. £

Find out the economic ordering quantity from the following :
il

Annual consumption 12000 units.

Cost of placing one order Rs.15 .

Annual carrying cost of one unit Rs.10.

ﬁgaaamn_ efleu Um&aﬂe&@pg Sagen Qa;rrm@,og,a) SIETENEU STERTE.

<peiT (B LweTLIm - 12000 SO G ST

. @O S@Lunamen BBausHED AUYIISHEGD BpGD Qawel .15 |

T @@ s Csslisg @aitiugpatar <aH Qe @.10.

2 60131/BPZ5A/BPF5B/
- BPG5B/BPM5B

24. Amit Comphny has five departments P, N, R, S are production
departments and T is a service department. The actual cost for a
period are as follows : Ly i e b

Ret i = o Rs.

o Repairssl V 2,000 Insurance < 3 . 1,500
¢\ Rent ? 2,500 Employers liability Y )
Depreciation 1,200 of employees i insuranée © 600
«*Supervision 4,000 Light v & 1,800
The following data are also avallable in respect of ﬁve'
department :
Departments
A P N - R S T
Area Sq ft 4 v " _ 140 120 110 90 40
No. of workers - 25 20 10 10 5

Total wages = Rs. 10,000- 8,000 5,000 5,000 2,000
Value of plant Rs. 20, 000 18,000 16, 000 10 000 6,000
Value of stock' -Rs. 15,000 10,000. 5,000 2,000 = =

‘Prepare primary dist‘ribu_tion surh'mery f'romlfthe above data.
< Hipiob gbs seopsmas Qsitarberears. P, N, R, S eramien
2 pusd geopsar T agb gop vafisggion o GO
a;trsug,g‘,]ma;rrm Qalz Q&wma;m 9 Grauheua '

. R . {: . ' . @.
ugBsad 2,000 &TSE 2 . 1,500
‘mrer_es 2,500 uefluirert srii@ .
Gawiorand 1,200 Ppeuengen sLet Quigiy . 600,
CLD;_?)u’rrr'rmm 4,000 . aﬁ]més@ . . - 1,800

e\ Y: ?—B‘I_T)gl gja)g)a;@aa;rrm G eSeugtisen ﬁlemm@mrrg)j '

SlenM ST
r N R S T
Upliuetey &5y . 140 120 0 110 . 90 . 40
uemflwm_ser SR 20 TORS G E 5

Qurss e ~ @ 10,000 8,000 5,000 5000 2,000
Dupdrwdiy e 20,000 18,000 16,000 10,000 6,000
@ouywdiny @ 150000 10,000 5000 2,000 . -

Gl 2 drer efluprisamerd Qamem® @)g_r,afrmm ué]rrpg,ﬁﬂuq Ul iguidd
§>MIIIIQEM$ -
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22.

23.

v,

The following transactlons took place in »respect of an item of
material :
) Receipts Rate - Issues
: (in Qty) (inRs) (in Qty)
. 01:07.2015 200 units  2.00 -
05.07.2015 300 units 2.40 e

12.07.2015 i '~ 250 units -
120.07.2015 250 units 2.60 . -
31.07.2015 - =" 200 umts

Record the above transactlon 1n the stores ledger pricing the
issues at 31mp1e average rate method
8O (y)a)uQurr@m QSTLTLITET FLGUIq.EMEEET &mm@br@
Quppg = elene eigd. QJI{.?I‘E]QUJ@
(cramafismaud) (epumde) (eramenflsemaudn)

01.07.2015 200 @@ser . 200 . - —
05.07.2015 300 Si@@ser - 2.40 =
12.07.2015 e i 250 i@
20.07.2015 = 250 s@seT - 260 =
31.07.2015 S S U e E 200 &a)@ascrr

&t CuG g6 GLo,l_r)Luq. BL_aulg Senasatlan UIPTEIGESEET SMSTyaRT
srrisf eflene eSzbd apempuie Ldey Q&u_lg,j e;rn_@a;

Caleculate the cost of Job No. 100 from the following data
Materials Rs: 4,010

Wages |

A - 60 hours @ Rs. 3 per hour

B~ 40 hours @ Rs. 2 per hour

C — 20 hours @ Re. 1 per hour

Variable overheads — Rs: 2 per hour ]

Fixed overheads — Rs. 20,000 for 10000 hours. )
Spssrand  saadsafalmbs  uemfl  ereRr 100-e1 QL ssE®S
sam&EE) (D&

epelIQLrmerser ¢m.4,010

Fn6d

A — 60 warflser @ Rs. 3 g Lomﬂ Crrasdn@ . _

B —40 weflser @ Rs. 2 g we (S‘njugg‘lm@ L '. .

C - 20 varfllser @ Rs. 1 e, wenfll Corsdpe ! '

wryd Gohébseease 20 wallsg .2 gf,]smwurrm Gmgp&@&msqa;m
10000 wexfl Crrsdne o5.20,000. :
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16.

17.

18.

From the followmg part1culars prepare Labour Cost per man day

. of 8 hours. .

(a) Bas1c salary : .Rs. 2 per day

) Dearness allowance 3 0.25-paise for every point over
100 cost of living index for

. working class. Current month

cost of living is 700 points

(© _Léave salary . 10% of (a) and (b)

(d) Employees contributions B ‘

- . toP.F. g : 8% of (a), (b)y and (c)

(e) No. of working e o Ruflf s o
days in a month 25 days of 8 hours each
Sp&smamID. aﬂmum&aﬂoﬂ@pg 8 anfl CS‘r_r)uLo Qe @@ prr@a;asrran .

&6 GTeuaIeTay GTans sanEsl Hs.
{=) SigliLenL sbiserd : prer @svrgj&@ @ 2

(=) siselenaiiug : eumpaasFsaey éIITLQJm@WuﬂéJ
; 100 Ljereflae i@ CoCe 2.¢ier Geubleun(s
yerefid@ih 0.25 epuam p@ib. pLUIL auinbéens
' Qaawe a;L_:_msaumuquL g 700 qmelﬂa;m
@) OGO sbUamD
(m) Gsopalfée
psorefidd saficn  : Gopuy, (o). () wpad () s 5%
(2) @@ wrzsdd
Uenfl g6, - 1 8 wanfl Gomb Qanam 25 ‘l_r,rn;m'T o

= Guopuig. (1) wHmid (<) sfld 10%.

Discuss briefly the objectives and advantages of costing.

ol geveiliedletr Gpna&g,ang,um LOHMLD  ASEEDLLI  BETEOLSENE@ILLD
afleurrd). .

From the fo]lowmg 1nformat10n compute machme hour rate
Cost of the machine Rs. 90,000
Cost in‘installation Rs. 10,000 '

Effective working life 10 years

Working hours '2006 hours per annum

Repair expenses 50% of depreciation

Power.consumption 10 units pef day at 10 paise pe,r unit, -
Wages of operators Rs.4 per day of 8 hours.
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19,

20.

ﬁ@%&saﬁaﬂ_— aﬁluﬁ@a;erﬂ_eﬁ@(rbgu @u_l'r_rgglly wasf aﬁg,g,m;_ry SEE[HS.
@u_x‘r_r;'é,]ug,g‘,]m aiLssedera (5.90,000
Biieué Qsaaser @5.10,000

¥ amgga;@jw <yt 10 m@l_rmaseﬂ

2 &G D Crrb e aJ@l_g,Q,m@ 2000 mmﬂa;m
LEILIMTUL GFaaysar Gg,wmrrmg,‘é,]a) 50%

uS]m EIETe| @6 BTEnEE 10 SiEE SI0E gam 10 aug
" @ws@ueur. ;s'sLaS] 8 weladr Aaram g BTE5&EE -4

Calculate the earnings of a worker under the Halsey plan and
Rowan plan. :

Labour rate pér hour Rs: 3
Time a]loWed for job:20 hours
Time taken — 15 hours.

em QsmPloraluler mHgme aprdGs LD[_T)Q]LD (Slyrreurrm g]u__uuq_
SaTEE (HS. "

@@ el Crrs8nE 2-Mw 2 @iy sl aisLb em. 3
umﬂs;@ a@mﬁa;&uuLL_ Gmum 20 wanflaer.
a(h&g15 Qaram_ Cuyb - 15 inenflser.

PART C — (3 x 10 = 30 marks)

Answer any. THREE questions.

From the followmg partlculars prepare a cost sheet.

- 1.1.2014 31.12.2014

: Rs. Rs.
Raw materials ‘ . 1,00,000 1,23,500
Finished goods S 71,000 42,000
- Work in progress = 31,000 34,000
Purchase of raw materials - ————=—— ~ — - —==88,000
Dirett wages 70,000
.Factgh)ry overheads - - —39,500
Administrative overheads 13,000
Selling and distribution overheads, 15,000
Sale ovf finished goods h ' 2,75,000
o L 6013 1/BPZ5A/BPF5B/
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21.

Sp&EsTamLd aﬁluumaaﬂaﬂ@pg SlLGsedame ULliguid  QeTeanms;

swflés. . .
11:2014  31.12.2014
. €.
 epeli@ummer 1,00,000 .+ 1,23,500 -
®5-eyls QuT@GLser 71,000 42,000
pLiifdle @méEn Govener 31,000 34,000
[INATE] G Q"eerrc'rr@g,ci) ' * 88,000
GrB17ig 565 : 70,000
Qzmparenad Gmm@&wm&m 39,500
Hlieums; Gmg)@&a)ma;sﬂ 13,000
eApuiener Log)g)jm aﬁ]‘ﬂ@u_lrra; Gm;p@&evmasm 15,000
el Guimgper @Eﬂg)uanm : 2,75,000
The profit as per Cost Accounting Rs. 40,000 while comparlng
with the Financial Accounts. The fo]lowmg differences were
found.
: Rs.
(a) Overhead as per cost accounts amounted - 8,000
y Overhead as per finandial account 16,000
(b) Dlrgctc)rs fees not charged in cost a/e 750
(¢ Tax company created doubtful debts 600
(d) Depreciation not shown in ¢ost a/c 600
(e) Transfer fees received 100
® The amount charged to income tax 5,000

' Prepare a reconciliation statement.

SlLssellena eligen @rub m.40,000 Hfs sansflen glined @oms
Uiy CpréEn Aumps Spéaa. eilSEunsmtiseT STamiuLLar.

.
(=) SiLssome samsdle erpsliul L Giopidamaeyser 8,000
- Pdésansdle oragsiiul L CupiQsamasdr - 6,000
() L ssdloe samsdd asiLLTS BUEGHT S Lawd 750
(@) Powb essHu RuUEsL e srlL ,- 600
(F)  SiILsselana semadle er(pgliuLng Gl 600
(22) rHmS S Lewd QubDE ; 100
(ear)  eugpomen el erasLL LG 5,000

FM&SHCHID L iq.16) SWTHl&se]D.
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